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More Encryption
1 Caeser cipher variation. See the sheet on the Caeser cipher for this code.

In this code, the first letter of each code word tells you what the letter A has
been shifted to. Decode the rest of the word using this shift.

E.g., for BIBU turn your cipher wheel so that A shifts to B, then look to see
that IBU must be “HAT”

HAOL UWBIWIFUNYM MMDQ
YZCFGLB DWKH SHASFG



2 No wheel for this code - just take every third letter

EQMLERHABYRRPSOHAWJ
WNLUIVUSAOAXPSZYPRIY
3 In this code, each word has just had the letters scrambled - these are

anagrams. No wheel needed

TESL EGT ADD LOOCHETAC
ORF SSHCTIMAR


